   A Flowing View of the Nature and Geometry of Space.

The idea that Newtonian gravity is viewed as an attraction and Relativity gravity is space bending retards logic.  A force is something that provides a source for motion. Gravity is called a force and therefore it provides the impetus for motion. Physical interactions imply contact resulting in a pressure from a push.  Preparing to view a pushing form of gravity suggests contemplating the structural nature of the universe and of space.   
1. To evaluate the universe most analyses start by relating it to matter such as massive bodies like earth.  This is natural, since for us daily, and for the philosophers going back thru history, reality relates most logically to earth.  For a different perspective consider space without matter as the origin and mentally add matter in stages.  Doing so will produce what Einstein sought, a most simplistic model with extensive application across all our knowledge base. 
2.   The composition/structure of space consists of EM radiation for sure and perhaps nothing more.  As the ocean serves as medium to water waves, the radiation serves as the medium to itself.

a. Light travels in space from the sun and stars to us.  Other forms of radiation are detected coming from stars and galaxies.

b. It is easier to build a model of space assuming it is infinite than to build one allowing for boarders as the big bang theory does.  Within this infinity the universe is somewhat homogenous and isotropic throughout.  The overall structure remains while the local conditions vary. 
c. Assigning geometry to space reveals we must refute the possibility of any void region as it would not be part of the geometry.

d. Both material things and descriptive actions such as forces are viewed as transmitted through space.  Material things include EM radiation.  The descriptive include brightness and a force of gravity.  Note that attraction gravity gives an inverted view in which the concept being radiated is the ‘diminishing’ of the force of gravity. 

e. Transmissions come from points, be they dots or a heavenly body. We label exiting transmissions as rays.  Rays help focus on any actions and picture them as lines rather than as fields. 

f. In general we expect a 3 dimensional radiation from a point to diminish by R^2.  This logically assumes the total source functionality is transmitted, and we are distributing the content evenly over increasingly larger circumferences as the distance from source increases.   
3.    Analysis of transmissions.
             A.  A transmission might be viewed as a field of flow in all directions.  Such a flow would have no features.  But referencing EM radiation, we know there is structure, specifically pattern interruptions called waves.

             B.   To study the wave we need to focus in on the pattern.  A wave has a wave length so a wave must be a single cycle.  The repetition of the pattern is linear leaving the source rather than adjacent, so we give form to the flow.  We chose to analyze the radiation in a narrow form as lines similar to the way physicist narrow focus of fields onto particles. So we give the line a name.   

             C.   Outgoing transmission lines are typically called rays, I chose to distinguish incoming lines by labeling them as beams.  Beams are theoretical lines that gather rays from adjacent source points.  It is important to investigate incoming as beams rather than as fields as there may be variations within the flow due to variable sources.  Separate adjacent source points may emit differing radiation.

             D.   A benefit of considering beams of radiation for both EM radiation and for gravity is that they seem to come to earth from all directions from distant stars or from infinitely distant space. All receiving points become defined space or matter   

            E.   With increasing distance from the source the content of a specific ray dissipates as a decline of brightness.  The ray’s linear form must bulge and flatten to avoid causing voids due to lateral separation. But how much can a line widen as the radial separation extends many light-years?
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            F.    Picture lines exiting a 2 dimensional clock at the 12 hour positions.  This might appear like a spider web. The picture can be expanded to a 3 dimensional sphere and expanded by including more source points but not infinite number.  At some distance the separations become significant.  There is less of the radiation between the lines than at the lines.  There is a near void between.  Even for concentrated rays such as laser beams the concentration is limited and the ray spacing expands with sufficient distance.  The spacing is offset by the motion of viewers on moving bodies. Orbital bodies move perpendicular to incoming beams and receive them as on and off signals.  This process is exhibited by star light which can’t be resolved at earth but continuously arrives as multiple line end points as we cross their arrival points.
2. The motion of the source relative to the destination is a major key to existence!
 If rays from a distant source remain as straight lines, at some distance we won’t see the source, as it is represented by a beam end which we can’t resolve. A line has no density. We need multiple rays to arrive jointly.  Otherwise the source ceases to exist as matter.   Our universe solves this via motion. 
 The source must move relative to the observer in order to distribute its radiated image for him. Less discussed is that the source must also rotate.   
Without rotation the basic construct of the image consists of only  intersecting straight lines.  Once source rotation is introduced the originating direction of the rays aren’t ‘straight lines’ to the observer. They have curvature.  That curvature fills the image being received.  There becomes a variety of structure of the rays, however small the difference, so the observer can see a 2 dimensional image flat to his eyes. This discussion relates somewhat to digital vs analog.
5.   Newton’s laws
A. From one perspective, Newton's 3 laws serve as a cover for ignoring friction.  Newton focuses on bodies and their forces applying to each other. But forces occur from the minute to the large.  There is no zero force in the universe and thus there can be no inertia. There is no specific inertial mass and it seems like an oxymoron to refer to a force of inertia, given that inertia means ‘no change of motion’.  Newton proposed space as a void in order to allow his laws to stand out.  No alternative was available before the development of physics.  He would have liked to suggest an impetus for the motions as he would have liked to accept gravity particles.  Ever since, we have been debating trivia about the interaction of bodies.  Newton’s laws require a ‘perpetual motion’ base leading to all the nonsensical original universe theory such as congealing gasses that somehow assume the correct revolution speeds.  In reality all motion needs a continuous impetus. 
6.       Fixed concepts and curvature.
A. With Relativity, Einstein tried to address the ultimate non-linear relationship between all actions.  He removed as many fixed concepts as he could.  These included time, rectilinear space, the aether, mass vs energy, etc. But some constant base has to remain or you wont have a gravity geometry.  So he kept a fixed speed of light and the equivalence of gravitational and inertial mass.

B. Accepting curvature over rectilinear motion leaves a questionable geometry.  First the source of curvature is needed.  Einstein built his curvature around the fixed and limiting speed of light, thus having a model based on C.  He didn’t account for mass rotations. It does nothing for explaining the cause of motions across smaller scales.  

C. Newton had addressed the Kepler laws by Fixing on the force G of gravity and assigning relative mass numbers to all bodies by which they obeyed their orbital motions.  So G and mass were among the constants of Newton.   

D. The outcome of spatial transference depends on the relative motion of the bodies involved and on the rotational motion of the 2 bodies relative to each other.  All actions in space must take into account both relative motions of nearby bodies.  The transferences so affected are primarily light/EM radiation, and gravitation.  In fact gravitation causes and or affects motions, both linear and orbital.  Recognizing the contribution of rotation to gravity effects means the mathematical relationships must take into consideration all relevant (sufficiently close) rotations of masses. 

E. There are many concepts that are usually fixed for physical analysis depending on scale. There are obviously limits to our absolute understanding.  Each constant runs into limits and people propose a big bang, infinity, black holes, dark matter, etc.  Some affected absolutes include temperature, speed limit C, gravity constant G, mass, inertia, geometry, time, equivalence, etc.   

F. External Gravitation assimilates all this into one model by specifying gravity as the original and absolute nature of space and then considering how all motions and other constants are affected.  Gravity is original EM long wave rays moving thru empty space.  Our universe formed gradually as the rays incurred occasional disturbances.  The resulting interaction caused more disturbances resulting in gradual build up of intertwined rays, ultimately forming matter.  That cycle continues radiation self interactions yielding a spectrum of existence.

7.   Aberration - Sun to Earth 

We learn about the aberration of star light which bends in telescopes due to earth’s motion during arrival. Things are different for the sun. There are four relative motions of bodies, three of which are important for aberration.   The first motion of interest is the motion of earth around the sun.  Analyzing this we draw two circles and a straight line connecting the two circles and serving as a beam of light.  The paper we draw on is static space and ignores the revolution motion.  Given the beam takes 8 minutes and earth moves to the left, counterclockwise, the beam will pass behind earth.  To correct for this we select a beam aimed ahead on earth’s path which hits exactly the center of earth in 8 minutes.  That straight line beam will appear to bend slightly backward to earthly observers upon arrival pitting earth’s motion of 29.8 KM/sec against the outward velocity C of the beam.   But this analysis is incorrect?
There is curvature from the most important motion, the rotation of the sun.  Consider an observer on the sun and the launch of the light beam.  Say a beam is launched straight up like an arrow toward a chosen point.  After 8 minutes is the beam still straight up from the launch site?   Since the sun has rotated a bit, it is above and somewhat behind the observer and the point of origin. What does straight up mean?  The beam motion should be represented by a curve drawn to compensate for the rotation of the solar surface.  The first assumption about the sideways motion is that the beam will move toward the left at the sun’s rotation rate of 2 km/sec pitted against the upward velocity of C.   But this offset, at 2km/sec vs 29.8km/sec, is insufficient to compensate for earth’s revolution; it bends the beam only1/15th as much as needed.  Note that we are considering only the lateral effect of these perpendicular pushes in a static space.  The other offset perspective is that of angular velocity, which is a more significant factor. The sun rotates in 24 days, which is 15 times faster than earth’s 360 day revolution.  Applying this rotation to an EM transmission throughout would require a large reverse aberration. A proper conversion between the linear offset and the angular velocity is needed.
Essentially there is gradually fading lateral equilibrium at the surface of both earth and the sun.   Space is not a static medium.   It is the angular velocity that is the offset to C at the surface of the sun.  The angular velocity applied to radiation beams diminishes as it departs the source.  So the need to anticipate the motion of earth may be overcome as we consider the real condition of space.
The rotation of earth also participates.  That motion offset will vary somewhat around the surface. We measure aberration when plotting directly inline with the source, like at noon.  Relative to overall gravity, earth’s rotation will cause a slightly forward bending at noon of the already bent beams that arrive from the sun.  
8.      Measuring linear vs curved.
Earlier we narrowed fields of pressure into lines for convenience of analysis.  Weather forecasts presenting linear wind speed and direction high and low pressure fronts on maps simulate this process.  The lines are somewhat imaginary.  This delves into the philosophy of how we think.  A similar field issue is that of apparent equilibrium regions and the apparent lack of motion within, such as a void of space.  The stasis can consist of substantial yet equal pressure from all sides which resolves into equal (zero) ‘net’ pressure in all directions. 
We are trying to measure linear pressure vs. spherical pressure.  One result you get is the meaningless comparison of ‘strong’ nuclear force vs the ‘weak’ force G of linear gravity. Bill Lucas pointed out that a multiple of 40 might help connect gravity with his electrodynamic force.  Note that linear pressures can be large in their self but seen as small or zero when netted out with similar pushes from the opposite direction. The spherical pressure can hold things together while an unbalanced ‘net’ linear pressure can reveal gravity effects.  That these motions that net out might interfere with each other suggests a possible issue. They must not interfere with each other in order to keep the stasis. Fortunately the non-interference condition is supported by light beams which don’t interfere with each other.
9.     This analysis provides the background for introducing a pushing gravity system. If one gradually works his way through the process of relating known physics events to this new way of thinking one at least gains perspective 

10.   Our NPA Pushing Gravity Project is focusing on how radiation pushes, its structure and how it achieves ‘attraction’.  That was not the focus above where we dealt with diminishing radiation. What follows is a prior outline that rehashes some of these ideas and applies them to many topics.  It modifies understandings that differ when curved relationships and pushing gravity are considered.  There are papers detailing many of the applications
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1. The term gravity can refer to the source or to the detectible effect of the action of the source.  The effects are motion and the existence of matter.

2. Gravity is a push rather than an attraction.  As such it solves ‘action at a distance’.

3. The push implies the source is external from matter.  The source is beams with velocity.  Motion of beams is confirmed by waves within the beams.

4. Gravitation pushes as if it contained moving particles - Paeps – ‘particles applying external pressure’. But gravity particles can’t be matter.  They would cause too much heat upon impact and would interfere with orbiting.

5.  Gravitation is best pictured as lines rather than fields.  Beam lines help analyze and contemplate a linear push. Pressure gradients that summarize the situation inhibit analysis.

6. Gravitation functions as beams pushing from all directions upon every point of space.  Thus matter takes on spherical shapes.  Attraction gravity is linear and is insufficient to understand the universe.  We need transverse radiation wave/particles that strike matter with impact.  The amount of impact depends on the wave amplitude/energy.  Light and EM radiation are composed of waves which can act like particles.  We dispose of the concept of photons and of science’s wave/matter conflict.

7. EM radiation such as light slightly penetrates masses due to its wave structure.  But longer wave gravity radiation theoretically penetrates more and extends its push throughout masses.  Thus Paep gravity beams replicate long wave EM radiation.

8. Gravity beams, like radiation waves, move at velocity ‘C’.  Gravity carries radiation.
9. The universe is infinite and isotropic.   Space contains EM waves but does not contain matter particles.  Gravity beams are the structure of space simulating the aether others refer to.  Like-wise gravity is the undetectable background.

10. Gravity interacts with matter.  Matter exists as rotation/spins relative to the local equilibrium.  The spin may be of the atomic particles such as protons and electrons as well as spin of the entire mass.  The amount of spin determines the density of masses.  The lack of relative spin signifies the absence of matter.

11. Equilibrium is the net balance of vertical pushes, yet with an imbalance of horizontal pushes -gravity.

12. Gravity beams mostly penetrate matter.  Atoms are mostly empty space.  Paep waves interacting with atomic particles modify each other.

13. Penetrating gravity beams exit the mass and are modified. Beams amplitude may be diminished, their wavelength modified into heat and light radiation, and the beam’s motion redirected. 

14. The gravitational push at a mass surface offsets diminished exiting beams with undiminished incoming beams resulting in a ‘NET’ downward push often called attraction gravity.

15. R^2 laws apply for attraction gravity because it is centered at a point.  Pushing gravity requires a mass to centralize the modification of the beam leading to the same point of reference for equations.

16. During gravity penetration impacted matter particles are modified into radiation or different matter. The sun’s eternal power is caused by continuous penetration and exiting of modified gravity beams..

17. Paeps can be redirected by spin of atomic particles or by the spin of the whole mass.  Spin defines matter because the moving mass particles intersect incoming gravity beams.  

18. Redirected paep beams exit in a bent path relative to both the source and the observer.  They curve throughout their travels.
19. Space is 3 dimensional but its contents flow and distort linear analyses.

20. Undiminished gravity beams flow in all directions across a mass surface, not just downward.  A minor extra counterclockwise flow of exiting beams bent by the rotation of the mass occurs. The flow matches the mass’s rotation yielding local equilibrium.

21. Counterclockwise motion relative to our Z axis north and to orbital centers dominates the spin and orbital motions of the universe. Antigravity is simply a clockwise flow.

22. Newton said orbital motion continues absent external forces, thus no friction. The implied void of space can’t exist given radiation, meteors, and solar winds.  A motive force is needed.

23. Newton’s “motive” external force was centrifugal force, subsequently inertia, a force with no source. Newton’s inertia is more properly defined as ‘adhering to the local flow of gravity’.  The application of inertia saved Newton from explaining the source of motions.

24. Planets incur lateral pushes of gravity caused by the bent beams from the sun, and moons incur pushes from the sun and their planet.  This is the motive force causing orbiting.  The revolution push by spinning bodies upon their orbitals is maximum at their equator and decreases with altitude.  So Bode’s law finds planets to exist at the extension of the solar equator and not at significant altitudes.

25. Orbital revolution rates must be less than their central body rotation rate.  Rotation of the master (sun) adds to the local central body (planet) push upon moons.

26. The lateral pushes on orbitals causes the rotation of the orbital as well as the revolution.  The rotation rate is dependent on how far to the right of the 12 o’clock/6 o’clock axis the push is centered.

27. Rotating bodies usually rotate counterclockwise relative to their central body. Central body bent gravity beams add to atmospheric as well as the masses ‘rotation’ for orbitals.  The sum of bent gravity beams from earth’s rotation and from the sun causes winds on earth.
28. Solar gravity beams are the solar wind when passing by earth.  Magnetosphere pictures are attempts to represent bent gravity beams.  At a point between planet and the sun, bent beams from each will collide, creating a small void.

29. Sufficient bending of radiation beams and interaction with other beams creates mass.  Electrons are beam crossings.

30. The nuclear – strong force is simply the sum of gravitation pushing from all directions.

31. Magnetism is the ‘net’ push of gravity beams when beams from one direction are redirected.

32. Charge is simply the direction of flow.  Anti-gravity is pushing in the opposite direction.

33.  A spectrum of existence associates waves from the longest Paep gravity beams, thru EM radiation, and extending to mass itself.  All relates to the wave structure in the spectrum of EM radiation.

34. Three dimensional waves are best pictured as coils.  Consider a flowing beam wrapping around inside a straw like a counterclockwise screw. 

35. Diminished gravitation occurring locally within the sun or stars is replenished by the gravitational stretching of light beams into microwaves, then radio waves, and further into paep gravity beams as they travel from very distant stars.

36. Rotating bodies cause orbitals to encircle them.  Kepler detected this and determined orbital times for our solar system with a large central body.  More nearly equal bodies are not similarly studied and having joint revolution sources significantly changes/decreases the orbital times calculations.  The gravity source is not different in galaxies.

37. Kepler’s third law is that the inner planets revolution period is a constant times the 3/2 power of the solar distance Rn for each planet.  Thus the central body sun has to be the source of their orbital times.  It is the push by bent solar gravity beams that forms this relationship as the orbits increase by R^2.  The factor R is the 2 dimensional component and R^1/2 is the Z axis contribution.

38. The bent flow of gravity defeats exact linear calculations in large geometric analyses.  The difficulty increases when multiple rotating masses contribute to the flow.

39. Actions within our solar system contend simultaneously with the linear flow of space at speed C (300,000 Km/sec) and the perpendicular flow from the solar rotation of 20 Km/sec.
40. Gravity beams condense together approaching mass bodies and the beams interact such that crossings are electrons, regions are protons and neutrons.  Thus the higher frequency waves can create matter.

41. Regions of matter creation occur when beams from 120 degree angles interact.  The Trojan asteroids are where solar and Jupiter EM radiation beams interact.
42. A proper picture of gravity beams diminished by the sun and traveling toward earth are bent inward from the right.  The motion of earth causes unbent beams to arrive from the left as if bent by earth’s motion

43. The mentioned bending of gravity beams produces both sides of the bumps of gravity detected during a lunar eclipse.  
Paul Schroeder

unused

External gravity is long wave radiation beams traveling at velocity C (see blow).  Gravity beams behave as does other Em radiation. Gravity beams  launched from the sun follow the previous analysis for light, and the gravity beams push the planet in its motion.  If we assumed the solar rotation applied to these beams throughout they might push earth 15 times as fast its actual revolution rate.  To account for the difference, recognize that the density of the original beams and of space itself diminish with distance.  Think of master beams as continually modifying themselves by 1. the absorption of beams angling in and 2. the release of beam parts angling away slightly.  The solar atmosphere which rotates with the sun’s surface gradually loses its connection with increasing altitude and its rotation contribution slows toward zero.  That happens because the sum of the master beam representing our gravity beam absorbs increasing portions of beams that did not originate at the sun but angled in.  In any case, there is no aberration in gravity as it is the motive force of the motion.  The whole explanation to Kepler’s third law comes from netting together the beams that come from the suns equator, from other parts of the sun and from just outside the suns surface.   

Since both gravity and light are both EM radiation beams, the absence of gravity aberration applies similarly to light. But gravity is what creates the whirling space in which light beams follow the flow and arrive without aberration.

Also recognize that ultra high speed of pushing gravity that many are referencing here was probably not part of leSage’s pushing gravity but comes from LaPlace and others as incorrect solutions to pushing gravity theories that all ignore curvature.  In his response on aberration here Bart Leplae also refutes super velocity and partly summarizes the rotating medium solution in one paragraph.    Bob, you and I had recently merged some of our perspectives about pushing gravity in its linear form.  This topic of aberration in the solar system should reveal a better understanding of curvature.
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